

ON SOME HILBERT–PACHPATTE INEQUALITIES WITH ALTERNATING SIGNS

T SERENDORJ BATBOLD

Dedicated to Professor Vandanjav Adiyasuren on the occasion of his 60th birthday

(Communicated by T. Burić)

Abstract. Motivated by the results of Zhao and Cheung, we deduce a Hilbert-Pachpatte inequality with alternating signs involving non-homogeneous kernels. We also obtain a generalization of a related result known from the literature.

1. Introduction

The Hilbert-Pachpatte inequality is one of interesting inequalities in mathematical analysis and its applications (see [1], [4], [5], [7]–[9]). Although classical, it is still of interest to numerous authors.

Recently, C. J. Zhao and W. S. Cheung [7],[8] obtained some Hilbert-Pachpatte inequalities with alternating signs. Their result is contained in the following theorem:

THEOREM 1. *Let $p > 1$, $\frac{1}{p} + \frac{1}{q} = 1$, and let $0 \leq b_{2n+1} \leq b_{2n} \leq \dots \leq b_2 \leq b_1$, $0 \leq a_{2m+1} \leq a_{2m} \leq \dots \leq a_2 \leq a_1$ for $n = 0, 1, \dots, r+1$ and $m = 0, 1, \dots, s+1$, respectively. Further, let $\bar{A}_m = \sum_{\ell=1}^{2m+1} (-1)^{\ell+1} a_\ell$ and $\bar{B}_n = \sum_{k=1}^{2n+1} (-1)^{k+1} b_k$. If f and g are convex, nondecreasing and nonnegative functions on $[0, b_1]$ and $[0, a_1]$, respectively, then the following inequality holds*

$$\sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{pqf(\bar{B}_n)g(\bar{A}_m)}{q(m+1) + p(n+1)} \leq D_{p,q,r,s} \left[\sum_{m=1}^{s+2} (g(a_{2m-1}) - g(a_{2m}))^q (s-m+3) \right]^{\frac{1}{q}} \times \left[\sum_{n=1}^{r+2} (f(b_{2n-1}) - f(b_{2n}))^p (r-n+3) \right]^{\frac{1}{p}}, \quad (1)$$

where

$$D_{p,q,r,s} = \frac{q(s+2) + p(r+2)}{pq}. \quad (2)$$

Mathematics subject classification (2020): 26D10, 26D15.

Keywords and phrases: Szegő's inequality, Hilbert-Pachpatte inequality, Hölder inequality, Gamma function.

The author would like to thank the National University of Mongolia for supporting this research (Project No. P2020-3990).

In 2019, Ts. Batbold, L. E. Azar and M. Krnić [1] considered generalizations of Hilbert-Pachpatte inequality with non-homogeneous kernel. For some similar works on the extensions and generalizations of Hilbert-Pachpatte inequality, we refer the reader to [2], [7]–[9].

In this paper, following the way of [1], [7], we give a generalization of Hilbert-Pachpatte inequality (1). More precisely, in the sequel, we deduce more general form of inequality (1) containing non-homogeneous kernels. Furthermore, a generalization of a related inequality is also obtained.

2. Main results

We have already mentioned, we will extend this inequality for a class of non-homogeneous kernels defined by $K(m, n) = (\lambda_m + \rho_n)^{-\mu}$, $m, n \in \mathbb{N} \cup \{0\}$, $\mu > 0$. Here, and throughout this paper $(\lambda_m)_{m \in \mathbb{N} \cup \{0\}}$ and $(\rho_n)_{n \in \mathbb{N} \cup \{0\}}$ are positive sequences of real numbers.

LEMMA 1. (Szegő’s inequality, [6]) *If $0 \leq b_{2n+1} \leq b_{2n} \leq \dots \leq b_2 \leq b_1$ and f is convex on $[0, b_1]$, then*

$$f\left(\sum_{k=1}^{2n+1} (-1)^{k+1} b_k\right) \leq \sum_{k=1}^{2n+1} (-1)^{k+1} f(b_k). \tag{3}$$

THEOREM 2. *Let $\alpha > 1$, $\frac{1}{\alpha} + \frac{1}{\beta} = 1$, and let $0 \leq b_{2n+1} \leq b_{2n} \leq \dots \leq b_2 \leq b_1$, $0 \leq a_{2m+1} \leq a_{2m} \leq \dots \leq a_2 \leq a_1$ for $n = 0, 1, \dots, r + 1$ and $m = 0, 1, \dots, s + 1$, respectively. Further, let $\bar{A}_m = \sum_{\ell=1}^{2m+1} (-1)^{\ell+1} a_\ell$ and $\bar{B}_n = \sum_{k=1}^{2n+1} (-1)^{k+1} b_k$. If f and g are convex, nondecreasing and nonnegative functions on $[0, b_1]$ and $[0, a_1]$, respectively, then the following inequality holds*

$$\begin{aligned} \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\bar{B}_n)g(\bar{A}_m)}{(\lambda_m + \rho_n)^\mu} &\leq C_{\lambda, \rho} \left[\sum_{m=1}^{s+2} (g(a_{2m-1}) - g(a_{2m}))^\alpha (s - m + 3) \right]^{\frac{1}{\alpha}} \\ &\times \left[\sum_{n=1}^{r+2} (f(b_{2n-1}) - f(b_{2n}))^\beta (r - n + 3) \right]^{\frac{1}{\beta}}, \end{aligned} \tag{4}$$

where

$$C_{\lambda, \rho} = \alpha^{-\frac{\mu}{\alpha}} \beta^{-\frac{\mu}{\beta}} \left(\sum_{m=0}^{s+1} \frac{m+1}{\lambda_m^\mu} \right)^{\frac{1}{\beta}} \left(\sum_{n=0}^{r+1} \frac{n+1}{\rho_n^\mu} \right)^{\frac{1}{\alpha}}. \tag{5}$$

Proof. Using the following relation

$$\frac{1}{(u+v)^\mu} = \frac{1}{\Gamma(\mu)} \int_0^\infty x^{\mu-1} e^{-(u+v)x} dx, \tag{6}$$

which follows from the definition of the Gamma function, the left-hand side of inequality (4) can be rewritten in the following form:

$$\begin{aligned} & \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\overline{B}_n)g(\overline{A}_m)}{(\lambda_m + \rho_n)^\mu} \\ &= \frac{1}{\Gamma(\mu)} \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} f(\overline{B}_n)g(\overline{A}_m) \int_0^\infty x^{\mu-1} e^{-(\lambda_m + \rho_n)x} dx \\ &= \frac{1}{\Gamma(\mu)} \int_0^\infty \left(x^{\frac{\mu-1}{\beta}} \sum_{m=0}^{s+1} e^{-\lambda_m x} g(\overline{A}_m) \right) \left(x^{\frac{\mu-1}{\alpha}} \sum_{n=0}^{r+1} e^{-\rho_n x} f(\overline{B}_n) \right) dx. \end{aligned} \tag{7}$$

From the Szegő’s inequality, we have

$$\begin{aligned} f(\overline{B}_n) &= f\left(\sum_{k=1}^{2n+1} (-1)^{k+1} b_k\right) \\ &\leq \sum_{k=1}^{2n+1} (-1)^{k+1} f(b_k) \\ &= \sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})), \end{aligned} \tag{8}$$

and

$$g(\overline{A}_m) \leq \sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})), \tag{9}$$

where, for the sake of simplicity, we write $f(b_{2n+2}) = g(a_{2m+2}) = 0$.

By the above inequalities (7), (8), (9), and Hölder inequality, we have

$$\begin{aligned} & \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\overline{B}_n)g(\overline{A}_m)}{(\lambda_m + \rho_n)^\mu} \\ &\leq \frac{1}{\Gamma(\mu)} \int_0^\infty \left(x^{\frac{\mu-1}{\beta}} \sum_{m=0}^{s+1} e^{-\lambda_m x} \sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})) \right) \\ &\quad \times \left(x^{\frac{\mu-1}{\alpha}} \sum_{n=0}^{r+1} e^{-\rho_n x} \sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})) \right) dx \\ &\leq \frac{1}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left(\sum_{m=0}^{s+1} e^{-\lambda_m x} \sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})) \right)^\beta dx \right]^{\frac{1}{\beta}} \\ &\quad \times \left[\int_0^\infty x^{\mu-1} \left(\sum_{n=0}^{r+1} e^{-\rho_n x} \sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})) \right)^\alpha dx \right]^{\frac{1}{\alpha}}. \end{aligned} \tag{10}$$

Using again Hölder inequality and relation (6), we obtain

$$\begin{aligned}
 \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\overline{B}_n)g(\overline{A}_m)}{(\lambda_m + \rho_n)^\mu} &\leq \frac{1}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left[\sum_{m=0}^{s+1} \left((m+1)^{\frac{1}{\beta}} e^{-\lambda_m x} \right. \right. \right. \\
 &\quad \times \left. \left. \left. \left((m+1)^{-\frac{1}{\beta}} \sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})) \right) \right)^\beta \right] dx \right]^{\frac{1}{\beta}} \\
 &\times \left[\int_0^\infty x^{\mu-1} \left[\sum_{n=0}^{r+1} \left((n+1)^{\frac{1}{\alpha}} e^{-\rho_n x} \right) \right. \right. \\
 &\quad \times \left. \left. \left. \left((n+1)^{-\frac{1}{\alpha}} \sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})) \right) \right)^\alpha \right] dx \right]^{\frac{1}{\alpha}} \\
 &\leq \frac{1}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left[\sum_{m=0}^{s+1} (m+1) e^{-\beta \lambda_m x} \right] \right. \\
 &\quad \times \left. \left[\sum_{m=0}^{s+1} (m+1)^{-\frac{\alpha}{\beta}} \left(\sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})) \right)^\alpha \right]^{\frac{\beta}{\alpha}} dx \right]^{\frac{1}{\beta}} \\
 &\times \left[\int_0^\infty x^{\mu-1} \left[\sum_{n=0}^{r+1} (n+1) e^{-\alpha \rho_n x} \right] \right. \\
 &\quad \times \left. \left[\sum_{n=0}^{r+1} (n+1)^{-\frac{\beta}{\alpha}} \left(\sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})) \right)^\beta \right]^{\frac{\alpha}{\beta}} dx \right]^{\frac{1}{\alpha}} \\
 &= C_{\lambda, \rho} \left[\sum_{m=0}^{s+1} (m+1)^{-\frac{\alpha}{\beta}} \left(\sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell})) \right)^\alpha \right]^{\frac{1}{\alpha}} \\
 &\quad \times \left[\sum_{n=0}^{r+1} (n+1)^{-\frac{\beta}{\alpha}} \left(\sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k})) \right)^\beta \right]^{\frac{1}{\beta}}.
 \end{aligned}$$

Finally, applying the Hölder inequality and interchanging the order of summation, we obtain

$$\begin{aligned}
 &\sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\overline{B}_n)g(\overline{A}_m)}{(\lambda_m + \rho_n)^\mu} \\
 &\leq C_{\lambda, \rho} \left[\sum_{m=0}^{s+1} (m+1)^{-\frac{\alpha}{\beta}} \left[\left(\sum_{\ell=1}^{m+1} 1 \right)^{\frac{1}{\beta}} \left(\sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell}))^\alpha \right)^{\frac{1}{\alpha}} \right]^\alpha \right]^{\frac{1}{\alpha}}
 \end{aligned}$$

$$\begin{aligned}
 & \times \left[\sum_{n=0}^{r+1} (n+1)^{-\frac{\beta}{\alpha}} \left[\left(\sum_{k=1}^{n+1} 1 \right)^{\frac{1}{\alpha}} \left(\sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k}))^\beta \right)^{\frac{1}{\beta}} \right]^\beta \right]^{\frac{1}{\beta}} \\
 & = C_{\lambda,p} \left[\sum_{m=0}^{s+1} \sum_{\ell=1}^{m+1} (g(a_{2\ell-1}) - g(a_{2\ell}))^\alpha \right]^{\frac{1}{\alpha}} \left[\sum_{n=0}^{r+1} \sum_{k=1}^{n+1} (f(b_{2k-1}) - f(b_{2k}))^\beta \right]^{\frac{1}{\beta}} \\
 & = C_{\lambda,p} \left[\sum_{\ell=1}^{s+2} (g(a_{2\ell-1}) - g(a_{2\ell}))^\alpha (s - \ell + 3) \right]^{\frac{1}{\alpha}} \\
 & \quad \times \left[\sum_{k=1}^{r+2} (f(b_{2k-1}) - f(b_{2k}))^\beta (r - k + 3) \right]^{\frac{1}{\beta}} \\
 & = C_{\lambda,p} \left[\sum_{m=1}^{s+2} (g(a_{2m-1}) - g(a_{2m}))^\alpha (s - m + 3) \right]^{\frac{1}{\alpha}} \\
 & \quad \times \left[\sum_{n=1}^{r+2} (f(b_{2n-1}) - f(b_{2n}))^\beta (r - n + 3) \right]^{\frac{1}{\beta}},
 \end{aligned}$$

which concludes the proof. \square

REMARK 1. It should be noticed here that if $\alpha = q, \beta = p, \lambda_m = \frac{m+1}{p}, \rho_n = \frac{n+1}{q}$ and $\mu = 1$, the constant reduces to $C_{\lambda,p} = (s+2)^{\frac{1}{p}}(r+2)^{\frac{1}{q}}$. By using Young’s inequality we get the Theorem 1.

REMARK 2. Taking $\lambda_m = (m+1)^{\frac{1}{\mu}}, \rho_n = (n+1)^{\frac{1}{\mu}}$ in (4), we have

$$\begin{aligned}
 \sum_{m=0}^{s+1} \sum_{n=0}^{r+1} \frac{f(\bar{B}_n)g(\bar{A}_m)}{\left((m+1)^{\frac{1}{\mu}} + (n+1)^{\frac{1}{\mu}} \right)^\mu} & \leq C_{\lambda,p} \left[\sum_{m=1}^{s+2} (g(a_{2m-1}) - g(a_{2m}))^\alpha (s - m + 3) \right]^{\frac{1}{\alpha}} \\
 & \quad \times \left[\sum_{n=1}^{r+2} (f(b_{2n-1}) - f(b_{2n}))^\beta (r - n + 3) \right]^{\frac{1}{\beta}},
 \end{aligned} \tag{11}$$

where

$$C_{\lambda,p} = \alpha^{-\frac{\mu}{\alpha}} \beta^{-\frac{\mu}{\beta}} (s+2)^{\frac{1}{\beta}} (r+2)^{\frac{1}{\alpha}}. \tag{12}$$

THEOREM 3. Let $p, q \geq 1, \alpha > 1, \frac{1}{\alpha} + \frac{1}{\beta} = 1$, and let $(a_m), (b_n)$ be positive non-increasing sequences of real numbers. Further, let $\bar{A}_m = \sum_{\ell=1}^{2m+1} (-1)^{\ell+1} a_\ell$ and

$\bar{B}_n = \sum_{k=1}^{2n+1} (-1)^{k+1} b_k$. Then holds the inequality

$$\sum_{m=0}^s \sum_{n=0}^r \frac{\bar{A}_m^p \bar{B}_n^q}{(\lambda_m + \rho_n)^\mu} \leq \tilde{C}_{\lambda, \rho} \left[\sum_{m=1}^{s+1} (s-m+2) ((a_{2m-1} - a_{2m}) \tilde{A}_m^{p-1})^\beta \right]^{\frac{1}{\beta}} \times \left[\sum_{n=1}^{r+1} (r-n+2) ((b_{2n-1} - b_{2n}) \tilde{B}_n^{q-1})^\alpha \right]^{\frac{1}{\alpha}}, \tag{13}$$

where

$$\tilde{C}_{\lambda, \rho} = \alpha^{-\frac{\mu}{\alpha}} \beta^{-\frac{\mu}{\beta}} \left(\sum_{m=0}^s \frac{m+1}{\lambda_m^\mu} \right)^{\frac{1}{\alpha}} \left(\sum_{n=0}^r \frac{n+1}{\rho_n^\mu} \right)^{\frac{1}{\beta}}, \tag{14}$$

and $\tilde{A}_m = \sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell})$, $\tilde{B}_n = \sum_{k=1}^{n+1} (b_{2k-1} - b_{2k})$.

Proof. By virtue of (6), it follows that

$$\sum_{m=0}^s \sum_{n=0}^r \frac{\bar{A}_m^p \bar{B}_n^q}{(\lambda_m + \rho_n)^\mu} = \frac{1}{\Gamma(\mu)} \int_0^\infty \left(x^{\frac{\mu-1}{\alpha}} \sum_{m=1}^s e^{-\lambda_m x} \bar{A}_m^p \right) \left(x^{\frac{\mu-1}{\beta}} \sum_{n=1}^r e^{-\rho_n x} \bar{B}_n^q \right) dx. \tag{15}$$

Using the following inequality (see [3])

$$\left(\sum_{m=1}^n z_m \right)^\gamma \leq \gamma \sum_{m=1}^n z_m \left(\sum_{k=1}^m z_k \right)^{\gamma-1},$$

where $\gamma \geq 0$ is a constant and $z_m \geq 0$, it easily follows that

$$\bar{A}_m^p = \tilde{A}_m^p \leq p \sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1}. \tag{16}$$

and

$$\bar{B}_n^q = \tilde{B}_n^q \leq q \sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1}, \tag{17}$$

and we assume that $a_{2n+2} = b_{2m+2} = 0$.

From (15)–(17) and using Hölder inequality, we have

$$\begin{aligned} \sum_{m=0}^s \sum_{n=0}^r \frac{\bar{A}_m^p \bar{B}_n^q}{(\lambda_m + \rho_n)^\mu} &= \frac{pq}{\Gamma(\mu)} \int_0^\infty \left(x^{\frac{\mu-1}{\alpha}} \sum_{m=0}^s e^{-\lambda_m x} \sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right) \\ &\quad \times \left(x^{\frac{\mu-1}{\beta}} \sum_{n=0}^r e^{-\rho_n x} \sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right) dx \\ &\leq \frac{1}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left(\sum_{m=0}^s e^{-\lambda_m x} \sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right)^\alpha dx \right]^{\frac{1}{\alpha}} \\ &\quad \times \left[\int_0^\infty x^{\mu-1} \left(\sum_{n=0}^r e^{-\rho_n x} \sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right)^\beta dx \right]^{\frac{1}{\beta}}. \tag{18} \end{aligned}$$

Using again Hölder inequality and relation (6), we obtain

$$\begin{aligned}
 \sum_{m=0}^s \sum_{n=0}^r \frac{\overline{A}_m^p \overline{B}_n^q}{(\lambda_m + \rho_n)^\mu} &\leq \frac{pq}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left[\sum_{m=0}^s \left((m+1)^{\frac{1}{\alpha}} e^{-\lambda_m x} \right) \right. \right. \\
 &\quad \times \left. \left. \left((m+1)^{-\frac{1}{\alpha}} \sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right) \right]^\alpha dx \right]^{\frac{1}{\alpha}} \\
 &\quad \times \left[\int_0^\infty x^{\mu-1} \left[\sum_{n=0}^r \left((n+1)^{\frac{1}{\beta}} e^{-\rho_n x} \right) \right. \right. \\
 &\quad \times \left. \left. \left((n+1)^{-\frac{1}{\beta}} \sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right) \right]^\beta dx \right]^{\frac{1}{\beta}} \\
 &\leq \frac{pq}{\Gamma(\mu)} \left[\int_0^\infty x^{\mu-1} \left[\sum_{m=0}^s (m+1) e^{-\alpha \lambda_m x} \right] \right. \\
 &\quad \times \left. \left[\sum_{m=1}^s (m+1)^{-\frac{\beta}{\alpha}} \left(\sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right)^\beta \right]^{\frac{\alpha}{\beta}} dx \right]^{\frac{1}{\alpha}} \\
 &\quad \times \left[\int_0^\infty x^{\mu-1} \left[\sum_{n=0}^r (n+1) e^{-\beta \rho_n x} \right] \right. \\
 &\quad \times \left. \left[\sum_{n=0}^r (n+1)^{-\frac{\alpha}{\beta}} \left(\sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right)^\alpha \right]^{\frac{\beta}{\alpha}} dx \right]^{\frac{1}{\beta}} \\
 &= \tilde{C}_{\lambda,p} \left[\sum_{m=0}^s (m+1)^{-\frac{\beta}{\alpha}} \left(\sum_{\ell=1}^{m+1} (a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right)^\beta \right]^{\frac{1}{\beta}} \\
 &\quad \times \left[\sum_{n=0}^r (n+1)^{-\frac{\alpha}{\beta}} \left(\sum_{k=1}^{n+1} (b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right)^\alpha \right]^{\frac{1}{\alpha}}.
 \end{aligned}$$

Now, using the Hölder inequality and interchanging the order of summation, we have

$$\begin{aligned}
 \sum_{m=0}^s \sum_{n=0}^r \frac{\overline{A}_m^p \overline{B}_n^q}{(\lambda_m + \rho_n)^\mu} \\
 \leq \tilde{C}_{\lambda,p} \left[\sum_{m=0}^s \sum_{\ell=1}^{m+1} \left((a_{2\ell-1} - a_{2\ell}) \tilde{A}_\ell^{p-1} \right)^\beta \right]^{\frac{1}{\beta}} \left[\sum_{n=0}^r \sum_{k=1}^{n+1} \left((b_{2k-1} - b_{2k}) \tilde{B}_k^{q-1} \right)^\alpha \right]^{\frac{1}{\alpha}}
 \end{aligned}$$

$$\begin{aligned}
 &= \tilde{C}_{\lambda,\rho} \left[\sum_{\ell=1}^{s+1} ((a_{2\ell-1} - a_{2\ell})\tilde{A}_\ell^{p-1})^\beta (s - \ell + 2) \right]^{\frac{1}{\beta}} \\
 &\quad \times \left[\sum_{k=1}^{r+1} ((b_{2k-1} - b_{2k})\tilde{B}_k^{q-1})^\alpha (r - k + 2) \right]^{\frac{1}{\alpha}} \\
 &= \tilde{C}_{\lambda,\rho} \left[\sum_{m=1}^{s+1} (s - m + 2)((a_{2m-1} - a_{2m})\tilde{A}_m^{p-1})^\beta \right]^{\frac{1}{\beta}} \\
 &\quad \times \left[\sum_{n=1}^{r+1} (r - n + 2)((b_{2n-1} - b_{2n})\tilde{B}_n^{q-1})^\alpha \right]^{\frac{1}{\alpha}}. \quad \square
 \end{aligned}$$

REMARK 3. If $\mu = 1$, $\lambda_m = (m + 1)/\beta$ and $\rho_n = (n + 1)/\alpha$, so our inequality (13) reduces to the corresponding result established in [8].

REMARK 4. Taking $\lambda_m = (m + 1)^{\frac{1}{\mu}}$, $\rho_n = (n + 1)^{\frac{1}{\mu}}$ in (13), we have

$$\begin{aligned}
 \sum_{m=0}^s \sum_{n=0}^r \frac{\tilde{A}_m^p \tilde{B}_n^q}{\left((m + 1)^{\frac{1}{\mu}} + (n + 1)^{\frac{1}{\mu}} \right)^\mu} &\leq \tilde{C}_{\lambda,\rho} \left[\sum_{m=1}^{s+1} (s - m + 2)((a_{2m-1} - a_{2m})\tilde{A}_m^{p-1})^\beta \right]^{\frac{1}{\beta}} \\
 &\quad \times \left[\sum_{n=1}^{r+1} (r - n + 2)((b_{2n-1} - b_{2n})\tilde{B}_n^{q-1})^\alpha \right]^{\frac{1}{\alpha}}, \tag{19}
 \end{aligned}$$

where

$$\tilde{C}_{\lambda,\rho} = \alpha^{-\frac{\mu}{\alpha}} \beta^{-\frac{\mu}{\beta}} (s + 1)^{\frac{1}{\alpha}} (r + 1)^{\frac{1}{\beta}}. \tag{20}$$

REFERENCES

[1] TS. BATBOLD, L. E. AZAR AND M. KRNIĆ, *A unified treatment of Hilbert-Pachpatte-type inequalities for a class of non-homogeneous kernels*, Appl. Math. Comput., **343**, (2019), 167–182.
 [2] TS. BATBOLD, M. KRNIĆ, J. PEČARIĆ AND P. VUKOVIĆ, *Further development of Hilbert-type inequalities*, Element, Zagreb, 2017.
 [3] G. S. DAVIES AND G. M. PETERSON, *On an inequality of Hardy’s (II)*, Quart. J. Math., **15**, (1964), 35–40.
 [4] B. G. PACHPATTE, *On some new inequalities similar to Hilbert’s inequality*, J. Math. Anal. Appl., **226**, (1998), 166–179.
 [5] B. G. PACHPATTE, *Inequalities similar to certain extensions of Hilbert’s inequality*, J. Math. Anal. Appl., **243**, (2000), 217–227.
 [6] G. SZEGÖ, *Über eine verallgemeinerung des Dirichletschen integrals*, Math. Z., **52**, (1950), 676–685.
 [7] C.-J. ZHAO AND W.-S. CHEUNG, *Hilbert’s inequalities with alternating signs*, Period. Math. Hung., in press, (2022), pp. 7.

- [8] C.-J. ZHAO AND W.-S. CHEUNG, *On Hilbert's inequalities with alternating signs*, J. Math. Inequal., **12**, 1 (2018), 191–200.
- [9] C.-J. ZHAO, L.-Y. CHEN AND W.-S. CHEUNG, *On some new Hilbert-type inequalities*, Math. Slovaca, **61**, (2011), 15–28.

(Received January 18, 2022)

Tserendorj Batbold
Department of Mathematics
National University of Mongolia
Ulaanbaatar, Mongolia
e-mail: tsbatbold@hotmail.com